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A popular question that was generally reasonably well handled, but many students assumed
that the initial soil was normally consolidated and thus could not find a preconsolidation
pressure. The data in the question and databook would allow the previous stress path to be
found.
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A popular question which was generally very well & ‘

handled. Students showed a good understanding
of the techniques involved. The only repeated
mistake was optimizing for bulk density rather
than dry density.
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This was the most difficult question on the paper, mainly because students found it difficult to

estimate the excess pore pressure at Im depth after 1 year. Many attempted to use linear
approximation whereas manipulation of a parabola was what was being sought.
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Students found this question straightforward in spite of the fact it was selected by less than
half of the candi The most significant i in understanding the influence an
problems associated with excessive building settlement where some quantitative comparisons
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